Scenario #1

Uncontrolled 4 way — white car yields to black because person on the left yields to a person on the right
at an uncontrolled intersection.

Scenario #2

2-way stop — Black yields to white because black car has a stop sign and vehicles with stop sign must
yield to vehicles without a stop sign.

Scenario #3

Flashing yellow arrow — White car yields to the black because person with flashing yellow arrow must
yield to pedestrians, bicyclists, and oncoming traffic.

Scenario #4

Backing — White car yields to the black car because when backing you must yield to all traffic,
pedestrians, and bicyclists.

Scenario #5

4-way stop — White car yields to the black car because at a 4-way stop you yield to vehicles who stops
before you at the intersection and if you stop at the same time as another vehicle, vehicle on the left
yields to the vehicle on the right.

Scenario #6

Uncontrolled T-intersection — Black car yields to the white because the vehicle on the street that ends
yields to the vehicle on the through street.

Scenario #7
Roundabout — White yields to black because you must yield to vehicles in the roundabout.
Scenario #8

Yield sign — White car yields to black car because vehicle with the yield sign must yield before the yield
line to pedestrians, bicyclists, and traffic



